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because as they come too close together the 

electron clouds start to overlap



the work done to bring these ions together from infinity is the total force integrated over r

Why don’t collapse on to each other?

The overlap of the electron clouds from the two 

ions cause a very strong repulsion!!!































































HOMEWORK
Read Chapter 1 ( pages 1-20) of Introduction to
Ceramics, W.D Kingery














































































